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ASSIGNMENT OVERVIEW

The goal of this assignment is for you to design a simple simulated file system.
Essentially, this file system will consist of an array of blocks, with the first block,
or first few blocks, in the system containing information about the system and its
files (metadata) in the form of fnodes and fentries

Your job is to write functions that will create, delete, read, and write files. The
function to initialize the filesystem itself has already been written for you, in
initfs.c. You will build off of this structure.

This assignment is fairly open ended — none of the signatures for the functions
you will write have been written, so you may design your program however you
wish. You may edit any of the files in the starter code except for simfstypes.h
and the Makefile.

| recommend you read through initfs.c before getting started to understand how
to build your functions into the existing file system.
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REMEMBER!

Error check everything! If a command or system call
*can* fail, error check it. Error checking is required for
this assignment, and bad user input is NOT an excuse
for your program segfaulting, crashing, or otherwise
malfunctioning.

Make sure your code runs on the UTM school servers!
That is where we will test it, and if it doesn’t compile
and run on our systems you will lose marks.

Make sure you compile and test your code right before
submitting, even if you only made a small change.
Mistakes happen and we would hate to have your code
not compile because you made a small change that
resulted in an error at the last minute.



